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- Coad wyl!uf Gt §lT 4/ s/, 4,( UsAmshie Ll 23 A, e hL A

1 /.’.Jlr

1 Petabyte is equal t0 e -aatils 1 1
1024TB (D) ’ 1024MB (© 1024GB (B) 1024 KB (A)

i DHCP | 2

DHCP stands for wmimms
Dynamic Host Configuration Protocol (C) Dynamic Host Computer Protocol (B) Data Hosting Computer Protocol (A)

Data Hosting configuration Protocol (D)

In IPv 6 , there are 8 groups , Beparated by .. uzL/-A‘c. w}‘.xud,/s L Bv6 | 3
(C) : y (W

... Installing more copies ofthe software than have license for £/ du.ugrUJ w&u—"‘uu/ S 4
Online piracy WLAefUel (C) Cmmterfemng Hard disk loading £3/_C35f (A)

Chentserveroveruse gt pel (D)

A good password is at least ... e Characters long @%5 .;.t'm}" P54 ﬁlﬂnd gl{l.{l 5

@ 12 () 10 © 8@ 6
o

eeneme. tag is used for inserting a line et U L8 S Lol F1f 6
<u> (D) <tr> (@) <i>@® <b> (A

e t2g i8 used to make text itali ebnJid L2 Sgifabff 7
’ <i>(D) <u>(C) <br> (B) <b>@)

Bl LS LS pfsdgborbl | 8

—emee. symbol is used to determine the flow of steps in a flowchart
om —r©© <m® @ W
Algorithm s 8 8ct of v.........to 50lve & problem el LI SS N 9
Conditions ¥17 (D)  Input et (C)  Steps 1/ (B)  Remults e W
Binary number system has tots .....—....... lumbers L ——Susude | 10
2 8@ 16® 17 W
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Lep 14— 1 =4 )
Q.No.2: Write short answers to any four of the followings ~ 4x2=8 Z e B Lzl Lt 2340
Describe the impertance of prototype in planning of a solution il St LSS | i
Write the names of 5 ws . ) Alsws | i
Esplain the decision making Zeolfinddd | i
What is meant by trace table ? el KR v
Describe the characteristics of HTML Lopetor’ J HIML | v
Wite the output of the following code in HTML oSz aML | vi f
<html> :
<body> f
<P> My First Paragraph </P >
< /body> ‘
</ ntml> A :
Q.No.3: Write short answers to any four of the followings 4x2=8 -é}é@@ﬁdﬂzkc_uﬁd}(w -3 /.)‘Jlr ﬁ
o
Convert (786); to Hexadecimal \ O\\\y e LSS (786), | l
Explain “NOT’ operator /f \%5) 2ol iyl "NOT' | i ;
| What is meant by Non Volatile Memory ? M@ Sl sl e $n? Seuset | i §
What is difference between ‘Bt and ‘Byte' ? OV\/ S0 UsByte 41 Bit | iv l;
What does you know about ‘ DOS ’ attack ? Qa XQQ SUE TR AL DOS | v :
Define Cypher Text ’ (\QS) Z oy luli | v
Q.No.4: Write short mwmwn@ée followings 4x2=8 Z ez LRl LLiln 4t Ay
Give an example of point to point c; ection =088 U:ff wLigfadiy | i
How would you explain working of Server Systom ? SES Lol L SN L np T | i
Write the usage of FTP Z /U FIP | il
Define the hub ZEy e | v
Write difference between ordered list and un-ordered list 2 FOp LI e Ml | v
Wite the output of given HTML code o feesT aML L2 | vi
<html> <head > <fitle > welcome </title> < /head >
<body> <P>ILove Pakistan < /P> </body> </htm! >

(Part 1D (24

Note: Attempt any Two questions from this part 8x2 =16 7 .-,pzéamméf Y0 S (RN
e d Luss Ly S L oS e rogTiunt FoieLl& Ll | st

Ifa problem has multiple algorithms then how would you choose the most efficient one. BExplain with examples

Explain the components of Communication System. -:’E..VD;J ol 21 £,}' ‘}:‘" :.I 6: AUl
‘Write importance of encryption for everyday life on internet éj .pﬁuf P 4 I J Fhpiss | T / Jir
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fmﬂw..,wufzu:.../fJLf,g/._.an,Juuuup;.ﬂ.é-a/.-_‘,ﬂﬂ.
1 /dlr
HTML i88 - Language el HTML| 1
Markup language &% IS (B) Machine language &% (A)
Systemlanguage &2~ (D) Binarylanguage &7, (©)
Which solution ace not reached through proper algorithm or work planning ?  Fe/%/ = (Planning) Syl Aol S| 2
Strtegized solution (4" =#(C) Candidsolution 3% (B)  Preparod solution St iz (W)
' Best solution L4 (D)
Pmblcmanalysiaisthepmeastoﬁgm;ont ................. edn e J,;h LAl | 3
ﬁ}o M 5@ 4® 3W
Expression (A + B) . (A + €)is 6qualt0 oo @% sdsl. (A+B).(A+C) bl | 4
A+(@B+C) (D) © A.B+A.C (B) A+(B.C) (W
S— L | @ e PGPl L -l s
Flash drive £14J<" slatile JeiA(C) Harddisk 434 () Nonvolatile Feumut (A
The IPvé is made up of oo bi P Ty —— T R
32 (D) 31 (@ 30 B 29 W
. allow users to communicate using ¢ mail , news groups efc. BLS Il fs o2 E S dwe sl 7
Hardwaro server /A (D)  Mailserver s 2 (C)  Printerscrver 4174 (B)  Fileserver PPALAON
Which of the following doesn't includes the types ofsofiware piracy 7 e JEL IS Al e L its | 8
Online piracy (£AcfUT (D) Client server overuse | Jgumlss51¥ (C) Liability (ibsors (B) Softlifing LPil- (A)
.. crime involve computing e dnJe Bt/ 9
Cyber AL (D)  Tax A© cowil Jr®  Electic S
An individualfist ifem oan contain anofher entiro list alled . G- e B S ol Lz Srelfi | 10
Definition list LI (D) Nestedlist /%4 (C)  Unordered list 23470l (B)  Ordered list &AAT(A)
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Q-No.2: Write short answers to any four of the followings 4x2=8 .gi_}j .-:,w/ﬁ' CﬂZleau‘.‘J}ZyJ: <23 f} Ui
Define verification Seil oS =y ]
| Define candid solution - Z | i
What is Act it Out ? Vet o asTatedl | i
Write the use of symbol connector in flow chart Ui} frieh |
‘What is Hypertext ? Tesl Ve's eslie| v
Write output of the following code s it | vi
<html >
< body >
<I> Iam student < /1>
< / body >
</ boul> O
Q.No.3: Write short angwers to any four of the followings 4x2=8 a -@é&'ﬁjﬂ 5'17.111":_4;42}51: 3y
Convert (11000001); to Hexadocimal ot #EbeedtB Ao, |
What is meant by Non ~Volatile Memory ? 1 Se sl it St | i
Define proposition @ 2 /U Figle | i
Write distributive law . <0>u Ao | w
Explain cyber crime . @Q Zeobalfi g |y
LDcacribc the caeser ciphmwiﬂlexamP@ Zoeolse Yo L AL s | i
QNo.d Write short answers tany fur of the followings 4x2=8 Zf e L anlge St 414Uy
What is transmission medium ? s",-.e-n&fp‘»v/‘?’ 12| i
Write the purpose of FTP protocols #,.7 AL RTR | i
What is computer network 7 et Snetud | i
Describe the message Zeolafrl | iv f
Which tag is used to attach the image ? Se b 1Tag UFL Li0d | v )
Describe purpose of < Title > tag Zpus ¥ P<Tide> | vi
(Part 1D 2
Note: Attempt any Two questions from this part Bx2 =16 il ernlfe o )
SIES oI LG T K IS Ty PSP | st
Define an algorithm. How can you determine the efficiency of an algorithm ?
Describe Star and Mesh topology ZESENIE s | 6120
Explain substitution cipher methods with example Zeolne JSSUB LG | 1401y

2
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ot P ’
Koo "”‘r"i')"' Wi S L) Lo unthaipe - ) Ao S5 S,
Ge~lay i 75
One Nt agual o - .
2Lt () 10 () a4 (1) 2451 Thy
152 1PV sddrexs is made up of - binnry hiln, o D e L/“j (j/"/' (//,‘g} $ AL 7
-~ pom—- -, 7 4

256 (13) 122 (C) 7y 32 (4

et ST LLSID D

w

T roceives must be capable oCaccepting tho ——-

Message (& (D) Addresn (2241 () Protocol (J,/;;/' (1) [ntrmatiom A2 (h)

Aisk ofihe Sollowing is pot a charcteristics ofgood password ? PR S 4F s Vi y.iJ| U’Ufci- L Dls A
Does not contnins uscrmamo n;JV4(5;)¢ ) Ia cight Pazxywond =HAA 7T (1)
Pacrueed ! ; ‘}-“/ L T . @ = . .
Pass is your name only s 4rtLw o 3as D) Con MO ercane letters A7 4 7oz (C)
iy vom pTOCCSS © ==coding data O%{%;; ,?_d}(d/(,_/b(;) 5
piracy (L2 (D) Brcryption Q@@:) patent s (B)  Deeryption /A5 (A)
“~ 1M Sody secion stent from—.. Tag. , tnlsys c,ug___—-of?dfgvj HTML %
B -
< Head > (C) </Body> (B) < Body > (A)

< /Head> (D)
7o mmen szl 5 web pege—-19g +bndb’luf5vuf4—£.i_/d‘udnfw¢g,,_, 7
<p> (D) <TITLE> (C) <BrR> (B) <HR>(A)

¢t = (Plamiog) Syl eSS B

“3szh vnimine ze Lot reached through proper algorithm or work planning ?
Candid Jolution” SIS (B) prepared Solution Jubk (A

" Strategic Solution J’of/,d’._-)‘ ©

Hest Solution J’g/_/"f' (D)
.;.J/ﬁl;}(}’.ﬂdﬁé(,um.{'f 9

s iy % 1ormiration poizt of an algorithm.

Stop & (D) Golo 7/ (C) Set &r (B)  States '
-4--—-—-~§"7-L5J/ﬂ§'§ 10

* Itisoold eraide " in .

Categorical Propouition cﬂ)(d‘qﬁu_c'{ B) Boolcan Proposition (.'ﬂ)(b‘{c}!i (A) '
ral Proposition u‘i}{d/,du’ (C)} i

Nomwofthore U7 f8/ () Mo Poperion ¢ EAS
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No.2: Write short any
Q T WErs 1o any four of tho followings 4x2 =48 ,'[dolh?/ﬂé.lzulgc_uﬁdjbu 22 ;/,J‘,
" How cﬂ'lcicncy qu nn‘m . ) ) ) -
—Wh:xlsm £onthm 1a measured ? - »_qu._JkJrJ"/(fk{dzlf/Vqum i
Whatfs mezat by * well~defined " problem ? Ve e ' X0ut| i
i‘“mc the ¢ hames oftwo different types of teat data. - Z’rtﬁfw._ﬁnJQ}:/‘ Vm
, Descrbe the ‘Actin Oul sty 7 £ O g
: L-U?-f_ﬂﬁxcumbu.moftxgsm}lm. - JJLJJL(uLl/JJO ITML | v
Describe the head section in webpage. ‘f.:uyj"; ;,,;:Q._‘, v
QNo3: Write short answers to any four of the followings 4x2=8 Z fe o Lonlge S Ils 3 Ay
A O e —— .
Coovet (65),, into Binary number system. Mjuﬁrlﬁdb’f%) 65)o| i
Wriz £1l reme of ASCIL ? A\ O ¥ eaf¥/ASCH | i
Des=s Memcry. N X 2 St | i
\J
Gowe ke ® Idemsity Lew " W T q,gu)FJh'd’:uld/' iv
U - ;
T e== twp chzacteristics of good Password, @@ .4_‘.):9/ g J/ J bsdgél v
A@OV ey JSea | vi

fihe followings 4x2=8 Rz Lanlkye Bdibs 4 A
Wtz is ez by Application Sharing 7 £ el /y(a.J,_"‘c?-&-u i
Wre ahors note oz Stzr Topology. » .J eI BN | i

" Defne toe Protocol Z 8y | i

v bl LS SVES | v

¢ q——J)k(Lﬂcﬁ"uulqudr v

QNo.4:  Wriz short emswers (0

Describe foe parpose of uses Routing process.

W‘..z: is the difference between Colspan and Rowspan 7
 Desaribe toe Upordered list _Z R RY (% ) Vi
(Part ID (1~

Note: Atternpt anry Two questions from this part _g{dgpz[_ouvmjfa&/m i
R T e _Hooided | s AU

=
| Explaintypesoftestdats. data. ~ -
L———F - - T T . b [ .

Explain the compon<nis of commumcaUm Systemn. ) -.:.’{_-)me.ozlﬁr/ tﬁ(: ,.f 6: /Uiy
@cﬂ issucs related to data security. -éukc_gk‘fg)lzdlﬁhl:c_df&wcd,{?w 7 V-JJI:‘
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o R @"\\ﬂi‘] (xS };u) I/ e .;A/ ) U::l//‘);.,f
10: A =l Wy o 2020-2022 & 2021-2023 : o>
fu’blﬁ&&‘[.\,..lﬁuuc_ufuﬁbi GreleLdir pidz-azsnma,p,c BT Y RISTR
(n/r"w_..lituflL,f:,JHJLf/'f.Lb’LLf/,fu;/’bupc..{I-gv/c.‘fr[..f/‘
R <7 g% RO LAJi
— tag is wsed for inserting a line break —ete U B LLiSLuf ‘1 _f
<hr> (D) <u> (Q) <hi> (B) <br> (A); g
How =y "Ws ' are idectified in the understanding of a problem 7 Yeldnogd 'k Tl fee g i
' 8 (D) s@ (@é 3 ® 1 (A)!‘ ;
The y=bol — i the fowchartis called, L e u:.».uz,ﬁ! 3 II
‘

St 2t (D) Direction = (C) O% ine JU:; 6:)) Connector y(A)

Ne=be" 15 i oqual to _in binary system. (O wtrms s deign| 4
10000 (D) &? © 10011 (B) 10010 (A
Exgressicn (A+B). (A+C) is equal to__.. NG 402 L (A+B).A+C) Hefl | s
A+B.C) (D) +C) (O : A(B.C) ® AB+AC (A
E =27 stary G e K EBmaid) K|
Electrozic message (D) Electronic mail (C) Electronic medium (B) Electrical mail (A)
Hew memy Leyers of TCP/IP model are there ? Sl 2 Ter/e | 4
5 D) 4 () 3® 7 W
A ooy notwodk isused in crime Tc;-?lrgdw'-ﬁs%)r.{drzuf 8
Computer 24 (D) Program rlf:/; © Software  £»2il- (B)  Cyber L (A)
' Encodizg cf dzta is an exampleof .. o L J. (encoding) 34w et o
Ezerypion 4.7 (D) Copyright ,4¥ (C) Confidentiality (/L (B) Patent »2. (A)
Exzmple of singular tag is.___, : <« JdBIE | 10
< hi > (D) < head > (C) <hr > (B) <P> (A)
e e e e _ ‘_L“J
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AR S AR Ao (nass 38) 1ym: ol Fuded
80 A E.‘)\‘ \ (rart1) it o 2020-2022 & 2021-2023 1S E L
£2-2 .
Q:-No.l Write ahott anawers ta any four of the oltowlags 4:'),3—8 .:;’Id..-.ym,"é,lzugc_&d)bu -2 :ﬂd"
: Whatis the use of Terminal In flow chayg 7 f ?—r"dplgb’&j“}:‘b&" L
: “lr!li.'\ the traace tehle ) . N o - Z_"Jld_”'g&)_!‘;} }—_L
. WLt ic moant by candid solution ? ! 4_;!/[)’4_(/}”‘1" iii i
~ What s meant by undentanding a problem ? T q—ﬂ/kfbg‘fz iv |
- Defize the HTML g/ HTML | v
WhairuscoflhperentinlTML? - e B4 HTML | vi |
Q.Ne 30 Wate Gart answers to aay four of the follomngs 4x2=8 -4—'4;’..-.1,:;:/’&.:211,.—_.‘;‘)_'56» 3 AU
- :S&C_‘}‘}’Oll md*nmx] nu.mbcrsyutcm .éd_*'u:r'ﬁ(ﬁlyff (1000001) | i
Bixis f‘f‘_' e bc’wcca primary memory and secondary memory ? ?e;-J/'quﬁdu‘-’de?u’dnﬂf/”fv u
Mok g T bl AND oporator. {%@m}f’i:}{'—ﬂ/’u‘l AND | iii
S .
Wip s ocnd xeoposition 7 Give one example, (zg.vu’ Je LS el S e figba sl | iv
~ S vany \ O &= ¥
< .
W2t iy et by ootine piracy 7 N W St e EAAS | v
' -/
W== oy *wo cieaci=istics of phishing Emails. % .J._,Lm’”mjf JFu L | v

[
QNe & Writs stont esswens to any four of the fouowing@&)xz =48 N e B A I

A
N
Defos e Row w M oy et i

1= webea gz, ‘ﬁzizmmchmgcggﬁg: -_g;fﬁ_/(‘z}?fv&hﬂ&.,g ii

NS

Wrie 2o daadvaztages of war topology. v -_d'r etIn LI |

Wachimeed by BIGRumgY . e | St e ERS6 | v

Wrie te cuzmplosof IPV4 sandard. ZE ek Vs | v

Wi the come oftwopas of message, FE il »Lfhe | vi
o (Part 1) (2240

Netz ¢ Atempt eny Two questions from this part Bx2= 16 -id;y:zéammdfc_ut,om HOR

-éd.:atwufﬂuﬂ}gféfz lulé.y/J(zuo'l 5,:ﬁ)dlr—]

! Dcﬁnc the algorithm md wrile thrcc :dvmugol und I.hmo dludvnnmgcu

-._Zr ..;;—?:)‘”..ﬁ&ﬂ Y e TCP/IP | 6:4U1

t
|
1
} What means by the TCP/1P? Write note on differont layers of TCe/1p,

Write & note on different types of cyber crime. “-—)::‘Rlvru"ﬁ(!("/j{lf 7 ‘f-';dlr
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T S e
A s Gl b AL s e Qs/brwcpéfwteé;-&: //Ql(i‘.s -v(féa& Dusth, B, € Sl A Ei el

.ch zfv‘ﬁi wAfisd IR LI Jéc Fis w&&.é,.,f A st zcwﬁif .;“‘*;/ e b SA£

I3 1 - E
HE R

1A JU 2

eeereeen is = setf of steps to solve & problem. ,c;_&lﬁaf ......... i d’"l}éé&f S oj
Flowcharﬁ%&ﬁ (D)  Algorithm fé J© Coding Lir ) Protofype I (A
?éé-ﬁd@‘ié—ﬁ&ﬁ*fdiﬁ’éiéz%ﬁw!ﬁdgj{ e kg
Which of the following symbol is used to connect parts of flowchart. |
input / Output 3T/ CQ) Decision i+ (C) Connector /Cf (B) érminal 25 (R

“\

Hexadecimal has total \ numbers. BRI S o
15 (D) 18 (C) 46 (B) 17 (A)
Binary valie for Hexadecimal numbex “ F " is. @g\ Jéw_[, PN ST
1100 (D) 1101(C) 0% 1110 (B) BTN
.| (A.B).C = A(B.C) is & representation of the % -¢-JM#I(A.B).C=A(B.C)
‘@ , o

~ Conductive Law : Associative Law (55 /78 (A)

Distrib U (D) Commutative Law Jsjclif (C) |

) J,_ALL/dkmiéabww&mf»
A formal agreement between two computs s to send and receive information is called. o
Receiver u:-'( ;J.r': (D) Transmisgion / 12(C) Sender (L7 (B) Protocol dﬂu W

The ......... is an amazing tool for gommunication. -G53 ;‘L‘.’J /féré—uﬂ‘lf ..........
Phishing <& (D) / Intemet 221(C)  Hackihg JQ ®  Software sl ()
Lkditd LIPIE A nSode i 2B ........

is cyber attack'to make machine or network resources u available for a user.

Piracy/’7, @) Hacking Fr (C)  Phishing\ & (8) DOS U8 (W)

' The ..coeeeeeen attribugé specifies the URL if the image. ?4—  ».EURL K1 La PV
</br> (D) s (©  <di> ®\ <> W

Each table, row is defined with the ............. tag. -4,&9&&4,’64 ....... i7" ,,u:d‘
<tt>@® <he> ©  <di> @  \ <o>

—
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4 4 M el (-8 &0 AL SR

SRS " Paitil )y S AV el VR 0 IO O [5G e L .’_':’ ‘
& R L 2020=2022 & c021~2L2dxJ" (&

. Dar-4)-22

.;\ o2 Wiite short engwers (€ ey iour of the followinps  dxz=b u:/:j LR Ll (.s{\;:é';(_,}fl il :2.!;*’7@;:"

| Define defining e problem. =y ff L{;f g g

i What ie meant by (%Lndtd Sclution? Yo s /74( c,,gf fo YAk
Define prototype. ‘ g .2‘{‘.4} jﬁ d:‘d‘g i
Convert (A23); in o bitary. w2 (a23), | iv
Hovw does non volatile mem\iiorv work? ' ? : dfr(:‘.i&:” J Ehlset | v
What is difference between Dégmal and Binary system? /? 4.0}9( ;ﬁrlﬁ(}buuﬂw vi

Q.No.3: Write short answers to ér\\y four of the followings 4x2=8 é{ f ul«f%j L»llhkc.uf-(l}(m 3 AU

| Write names of two layers of computer network

\Y’ q_d:/uyu/bf: X = e s700 / Se bt 2 I LXandY

Write the truth table for Xand Y . i = today is Fnd&y , Y =itis very cold today.

Why we used OR operator? tetnJeid U g TOR
What do you mean by Trath Value? St e dhsds)

Qé} Sei Pl e Pih
L NIl EIIE

What is Video conferencing?

Write any two advantages of Ring Topology.

s rc%; A S M ted | i

i

Q.No.4: Write short answers fo any four of the ﬁ:{i@myé \)32—8 .é{)’ ez~ L,uzuy:.u:dsc,, 44y

(2174 tag o L2 (Red) Ly K 3N oo (Blue) F251) g8 e

ground colour Blue and fore ground colour RedYp a web page?

 Define client server overuse. _2.{.41 Vd Jj,gml;: el | i
Write two issues related to data -y (tLJ e P a,dz.;? &3 i
Define singular Tags. oy RN i
Write name oftwo attributes of <img> tag. -é/,;’ (bé&zﬁ-ﬂué.§< img> | iv
How insert space in webpage Text? s N SELF | S fellE o |v
vi

(Parti)  fuo

Note: Attempt any two questions from this part. Bx2=16 -é{/’ BT I TV PA W EO

Explain any four flow y‘art symbols in detail. 2X4 .éd!‘c—ckﬂ fébwh{ éfd..b;yf 5, AUy

Differentiate betw% but topology and mesh topology. 2X4 .ééjcﬁ&lyﬁ&(wym 8, /Iy

2X4 L5 8082 s LLnsb LSt 3L | T Ay

Write any four/@xamples of piracy concems arise through the mass collection of data.
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(L5 e el 7 e Letss tqend Guf ) O Lt
=4/ dJ NGk .4 2020-2022 & 2021-2025 (€
. R £ & = (Y b
- J,.

&"{Ué;u% Jé&prféffié;w}&kgdif[{é@&?ud épJDﬂlA B, C w[‘ffﬁf’ft é;g} e g Lffg(,.ﬁi;,cff’

b ,ﬁs“f"jlu.;jf‘s‘.‘.s,-w,zzgﬁ st (54 {25 pid wt’gef..f A plsfie a0 B L a-gf L Fhe 5o Sl
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To learn about web pab&c{ieszgmng foliowing language is required to leam.. /
C JAVA WD) GW BASIC (C) HTML (B) G ++ (A)
Before problem solving, we nked fo first ........ a problem. 4&&.( ..... Uidte L SJFE
‘ Process " 34(D)  Venfication ﬂ 23 (C)  Validation (- 4ks Analyse £ (A)
In flowehart symbol < is used Yo show a ...... QS . .:1_15'(5 < Um i
Terminal (/7 (D) Process 54 (C) Decision making/$il-b¢ (B) Connector ;Cf w

The answer of (10001), will be in decima] number system l‘x.,alﬁu-’-rlb'dzb’lb‘ (10001)2 ’

7@ /1 (c%@ 8(B) 18 (&)

Binary number system has bass.......... -4-(3.# .......... ‘ﬁU-’-rW(Suéb
02 » (D) @ﬁé) 16 Jr@® 10U

bl '\Q., .fu,u@ma4_Jfﬁunzwgwud‘.;454

Proposition takes one of the two value 28 ‘v/ olfalse and these values are called the.........

Tru o5 Jeksiss B) Operator 2431 (A)

DHCP stands for .............. | P DHCP
Dynamic Host Computer Protocol (B) Dita Hosting Computer Protocol (A)

Dynamic Hub Conf uratlon Protocol (D) Dynamid Host Conﬁgumtxon Protocol (C)

Theft crime 2.4 (B) treet crime (JVZJ W
Cyber Crime #1741 (D) dcial Crime A1/ fr (C)
it S b s “ U P2 7T PAK
‘PAK “three character substitution to the right” results caeser ciphef retum .....\....... |
RST (D) pBo(C) SDN (B) oPQ(A)

.../.Tag is called singular Tag. -4.51!/ PJ .........
<BR>(D) . <TITLE> (C) <Table> (B) P> (W

ve'Law )il (DY Commutative Law Jslg)if (C)

10
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G.Ne.2: Wiite shotl snewers (o sny four of the followings  4s2=8 & gf &Ain A~ ffﬁ_-d)?fzgsé;(j:(i“i(;u} 2L

What is mieant by Problem Solving? Csly Wed SSrli
What le meant by Candio solution? Sl f Lf K;J :“ffi‘.»i( L
What is meant by Valid 1‘e\st Date? gl plf e lihit o | T
Write four names of Storagé\Dewws &y ﬁfﬁ;ﬁ;j G|
Convert (1000001); in to deczm‘a\[\‘ | .é Yz e 4411000001, | V
What is difference between memo\ﬂ( and storage? /L te - E.zuigi |7

Q.No.3: Write short answers fo any four o{ the followings 4x2=8 .éz}.ﬁf"é.ml;qﬁm@, 3/
| Sl el Aicti |1
-é—b:d'fi:}i’ A4 NOT | il
@b’uir&w"md o LIty | i
Eyi8 TePip |

o ﬁo—édho/uﬁbl—uf Ursshi K7 | v
?+tn7"v/-6tes v

What is Boolean algebra?
Draw truth table for NOT operator.
What is identity law of Boolean algebra?

Define TCP/ IP.
| Differentiate between Sender and Receiver.
What is the function of data link layer ?

Tl plf Py A7 }:_’(Ay i
tebgad ol | i
,éq/‘!..)ﬂ i

fg oM iU “Mé—’" SHTML” | iv

N v

Define colspan.

_Write the HTML code using ifnage tag.

(Partl)) (oo

 Note: Attempt any two qlestions from this part. ~ 8x2=16 &zl athne (et oyl
24343 _d 1P saief 2 SIL LA FE GRS | 54Uy

Define flow chart ? Write a note on any three advantages and disadvantages of flow chagt.
2+6 Ee Pl L, y:,d\( 8, Uy

What is nt by Topology ? Describe Ring Topology in detail. \
2+6 .éuu,drﬂtef s s el :M

is Cybercrime? Explain any three its types.
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HTML is a computer language which is used to creat

v et s s o

Web browser .JSl—¢s (D) Webserver s4.cs (C) Websites u""'ln.,;: (B) A
In a flowchart , rectangle symbol represents
Connecter )ﬁf (D) Processing ...5:‘;4 (C) Decision de—Jé (B) Input/ Outp

? o ot LGl FL o

Which of the following symbol is used for flow of flowchart ?

.ribute L (A)
0wl [ J5UResh -2

deisT Idge (A)
poside L) L

Flowlines 4% (D) Connecter #/ (C) Proc ss@ Exsg (B) Terminal J24 (A)

true or faise

ﬁ{,lﬁv (B) Boolean
T

© Truth values Jgkush} (C) Logical @
O

Tgebra. Ly (A)

th table J32 (D)

S &Rl G HTmML 1

-3

%% % &L%kfm*&;.yuﬁdd{éf -4

Sl oo SR QLI Sogagecht -6

for conversatior

---------------

tand as part of the

Switch ér (D) Routers /%, (C) Protocol dﬁv{ (B)

over the Internet

Computer ).g! (A)

+rxdb"'f'ldﬂ:{ WQ_ZLJ:P‘ .‘d/»a.‘uﬂﬂf.d |

Which protocol is used to transfer mail from one place to another place ?

(B) FTP (A)

STP (D) SMTP (C) HTTP

E-mail stands for

Electronic mail 591 (B)
Electronic message 5‘:.5}9' (D) Electronic med

One common form of a Cybercrime is .................. G —amees
Hacking S (D) Piracy d’k (C) Transaction fraud Jl;w’f'/'l} (B) Identity th
The process of encoding data in such a way is called +BI,JJH

Piracy &}g (D) Copyright ..‘;UQV (C) Sabotage dzb’..,.;f (B) Enc

How many tag exist in HTML document ? q_&mlﬂJ ]
5 (D) 4 (C)
59 (Obj)-12021 - 50000 (ALP) SEQUENCE - 4

R | S— Ju
Electrical mail J2E291 (A)

um (i b (C)
- SreLiSi
eft Sigl=st (A)
e ud A
ryption SKF (A)
Fag Lusafll HTML
2 (B) 3 (A)

- 10
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Q.No.2 Write short answers any Four of the following 4 x2=8 LS\ Sy e AL 24
Explain the importance of a flowchart in problem solving _éuk%!J&;kML/J’P !
What is meant by efficiency of an algorithm ? ¢ q.:l/k‘:c—dﬁyzﬂfﬂ;’i 4
What is meant by act-it-out ? ¢ q.:lfk(c...*,ﬂa.urf i
What is meant by understanding problem ? Y ﬁ.:l/k(c-glg'/’ r
Define the HTML $4ﬂ HTML| o
What is meant by Hyperlink ? e slplfe BEy| Y

Q. No. 3 Write short answers any Four of the following 4x2=8 2 fel2 P71y e Lk 3 Ay
What is meant by Hexadecimal number system ? &@V&fa (lﬁdu;}cjuf' |
Convert (1000001), to Decimal Q @JMUJWH{ (1000001),{ ¥
What is meant by Not operator ? /70 &‘ ) ) 4.,yyf.—_j-_4,t Not| ¥
What i difference between Bit and Byte ? (> ? e B | ¢
What is Soft lifting ? {g)v@ e B o
What is Hacking ? @O f u!ié.&' Y

Q .No. 4 Write short answers any (Fgﬁehe following 4x2=8 af{;’.-.uzﬂé.lz s e Ldits 4 Hdlr
Define Hardware sharing Y i.gﬂfjff/’ab} I
What is meant by sender ? ¢ 4.;’/9{';1#3 -4 1N
What is meant by routing ? f 4.:'/{:....@1 r

¢ KUY (HTTP) Uity p e biy| v
What is the function of HTTP (hyper text tranfer protocol) ?
What is difference between Hyper link and Anchor ? éuydWA,le; -]
What is meant by tag < br> ? feslple <br> f|
( (PARTI )ppdsan )

NOTE : Attempt any Two questions from this part 8x2 = 16 4)@;&&.:.01,'»&_6/;@‘;: O
Write the use of flowchart symbols q’{ukdb“""lre. “thkaJE Swlr
Why a computer network is needed. Explain it ,iwkc—c}-'-" by q.anu[my‘l!:ﬁmg}ﬁ{ sﬁdlr
Explain Substitution Cipher Method with examples g{yu,;uiwuﬁ)&ww,pxp T/.;dlr
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What is the extension of HTML file ? . P P S -1
htnl(D) .htl (C)  .htm} (B)  .hmi (A)
............... tag is used for Inserting line break q_t'lg{db""l..f._.--- gLl S L -2
<gr> (D) <cr> (C) <brz (B) <dr>(A)
rerermeeninennens I8 @ Way to protect an idea q_.‘a)..{lb’d Jﬂu‘( ——s 3

Encryption ‘ﬂﬁ (D) Patent < (C) Phishing Jiss (B) Piracy &}g (A)

S isvl Biguie LU its -4

Which of the following is not good characteristics of go @sword ?
Does not contain username m‘}”:;(fdz (B?%% eight character lpng ..-Jb*f}l)‘l' (A)
ins upper case letters m)”{..hk_z (C)
P @rd is your name only q.‘}”.‘g tﬁ.rfdfb:u'k (D)

@ UL Wl e Pl -5

Which strategy divides a co roblem into smaller problems ?
Act-it-out ..*JT-M:/: I ( ide and conquer o ZJ:I(?(C) Prototype ¥ (B) Guess 141 (A)

4_&&0&'4./.;./@?( (Flow) fuébﬁﬂayﬁf( -6

It is used to determine the flow of steps in Flowchart )
Connetor )9’ (D)  Flow line JH:‘ (C) Terminal J’-f) (B) Process J' (A)

How many layers in TCP / IP ? ¢ pRdFe TePIP 7
7(D) 5 (C) 3 (B) 1 (A)

172.16.54.1 is an example of ................ q.dﬂ'..._ﬁsf —meedwe———— 172.16.54.1 - 8
DNS (D) IPV4 Adress uﬂlél IPV4 (C) Domain ¢k (B) Protocol dfix{ (A)
Hexadecimel System has total ................ Numbers u!Lx/.) e '8 J‘J'ﬂ:" -9

15 (D) 18 (C) |16 (B) 17 (A)
One (1) Bit is equal to ............... 4_,44.:4.,{! -10
5,6 (D) O0L1(C) 3L/4 (B) 1(2(A)
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D Q- "' L"a', s v’/

Q.No.2 Write short answers any Four of the following 4x2=8 é{,{-‘wzﬂ& 71 Jlg e L3t 2/4 Jb’

What is meant by Hyperlink ? ; 4.:I/Lf¢=—..ﬂﬁ' bl !
What is meant by trace table ? ¢ 4.:l/k(;4}{ﬁ) r
What is meant by decision making ? ) 4..:1/{;45»..14 v
Which tag is used for paragraph ? T q.t'ndb-'-'" wﬂ,ﬁ.}lﬁ,& v
Write the name of any two symbols of flow chart zg‘,”tl.atw&wﬂ o
What are the paired tag ? £ uj’Lnk(JS}: |
Q. No. 3 Write short answers any Four of the following  4x2=8 o fe Pl sy e flitn 3 v

What is the difference between bit and byte ? Q-J/k(tﬁh‘f' fashds| !
How data is represented in computer memory ? ¢ 4—6)’4&‘{“&! ISyt el | r

@&w*«:ﬂmm bl v ¥

What is difference between volatile and non-volatile m/gm ORY

Define Hexadecimal number system \% é—é’ﬂ&}d 34|
Write the types of software piracy %5\\/ £y UIJ‘ﬁ}W.‘)V ]
What is sabotage ? “ @C/ g Llh )|

Q .No. 4 Write short answers any Fg«ﬁg following 4x2=8 2L fo iz L7 4y e LSits 4 Al
Define File sharing W é_yﬂf..f}-ﬁ)”ﬁ !

>
What is meant by Receiver in data communication ? ¢ 4.:'/{4,»:,"-1 / aﬁ(}ﬁuﬁu"‘g;r i r
Define Application Layer i-?ﬂﬁﬂ'ﬁ[ nr
Write a note on IP Address aé“..». e NC RN
What is meant by Anchor in HTML ? ' T ?:b'yfa.ﬁ-lu-’- HTML| &
Write the purpose of tag < br > in HTML .é{fﬁb’ <lbr > J2 HTML| Y
( (PARTH JpPlan )
NOTE : Attempt any Two questions from this part 8x2=16 é;ﬁ;mé.#mmc_éfc_m T
A S NNE Ly P _Aepb| s A0

Define flow chart and determining requirements for flow chart in detail
z'-:;/’c-dj IZHBL ¢ & l/yfc-u’g | 64w
What is meant by data communication 2 Write its main components in d tail

gdab:jgﬁuu’té g‘UMmm 740y

What is the use of password ? Also write characteristics of a good pas

61 (Sub) - 12021 - 60000 (ALP) 1



